C:h Checking Division Answers

Name:
Check each answer. Determineif theanswer is'correct' or 'not'. Answers
7 Division problems can be 263+ 8=3217 182+ 6=2915
checked by multiplying the 30 29 1
guotient by the divisor and then 6
adding the remainder. x 8 X
256 174 2
If the answer is the same as the + 7 + 5
\_dividend, it is correct. 263 1 % WIE
1) 991+9=495r1 2) 127+2=63rl 4
5.
6.
3) 242+4=60r2 4) 389+5= 645 !
8.
9.
10.
5 453+7=50r3 6) 598+9=166r4
7) 173+9=19r2 8) 252+8=3116
9 977+6=162r1 10) 221+7=31r4

[ M ath ] www.CommonCoreSheets.com

1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |




=

Checking Division Answers

Name:

Answer Key

Check each answer . Determineif the answer is'correct' or 'not'.

/" Division problems can be 263+ 8=3217 182+6=2915
ch_ecked by mu_Iti_ plying the 30 29
guotient by the divisor and then
adding the remainder. x_8 x_6
256 174
If the answer is the same as the + 7 + 5
\_dividend, itis correct. 263 179% ,
1) 991+9=495r1 495 2) 127+2=63r1 63
X o) x 2
4455 126
+ 1 + 1
4456 127
3 242+4=60r2 60 4) 389+5=6415 64
x 4 x b
240 320
+ 2 + 5
242 325
5 453+7=50r3 50 6) 508+9=6614 66
x 7 x 9
350 594
+ 3 + 4
353 - 598
) 173+9=19r2 19 8) 252+8=31r6 31
x 9 x 8
171 248
+ 2 + 6
173 254
9 977+6=162r1 162 100 221+7=31r4 31
x 6 x 7
o2 217
+ 1 + 4
973 221
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